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This Question paper consists of 5 questions on pages 1 -3 
@®@ gcftn 02305 8 g ee=2S> 1-3 $?s$Qo geftn ST&TSJ ea®2yf8255o3 

Answer all the questions. S t a g ® eagfe)Sf»,Q S g ^ d ^ esooszrtey 

Question 1 (1.1-1.5) (Total Marks: 20] 
gcfcn efoaa 1 (1.1 - 1.5) (§c5 e^^: 20] 

1.1) List 6 advantages of a Computer Network. (3 Marks^ 

e58©-®S2a eiD(5o32» 0o8 625? c^Sdz^ozs aadzrfo. (e2?-©*) 3' 
1.2) What is meant by Tunneling'? Explain. (5 Marks' 

'Tunneling' oszs^Ozrf ef t̂od" 2S)d2rf©25f 2̂ ®25fq? o t t o * ^ ttd&tis). (ezsj-sg 5 
1.3) Describe the 'Peer-to-peer network' with the help of a diagram. (7 Marks^ 

'Peer-to-peer tioQa' 6\o eaOsozn^ epSbdecasrf S d a d 2S5d25f2D. (QT^€^ 7 
1.4) What is 'Channel capacity'? (2 Marks 

'Ql&>Q? a38®30' G52Q 25},®253̂ ? . {QT$)-G§ 2 
1.5) What are the 3 factors that affect 'data rate' in a Network? (3 Marks 

d3(3os255 '^2sf2a e f^esaaos ' caqjos S>QO3^ ea3u)255 3 ©©szntb̂? (C^-eg 3 

Question 2 (2.1-2.3) (Total Marks: 20 
gefcn ef°255 2 (2.1 - 2.3) ( § £ GE&*&- 20 

2.1) Discuss the similarities and differences of 'UTP' and 'STP' cables. (6 Marks 

'UTP' eato 'STP' ©2S5cQ)<3°0(3 63®32?52S5® esB) ®£>2?5eap255® ea3255S£i3 255d25f255. ((3253-^ 6 
2.2) How does a signal travel through a 'multimode graded-index fiber'? Explain with the 

help of a diagram. (10 Marks 
e3°esq30253° 'multimode graded-index fiber' w6wo co®25-f assdzrf®̂  ®25)@d$? d*o eaOtozr^ 
£t3G)3d®0525f £3t£Ol^g 2S5d2?fol. ( C 2 ^ ^ 10 

2.3) Describe the features of'Microwaves'. (4 Marks 
'25?u§ zssdoQO&ajrfsB' (®a®@3©002S) QZ$®<& S d a d zssdzjto. (C 2 ?-^ 4 

Page 1 of 3 



Question 3 (3.1-3.4) 
ge&D cf°2» 3 (3.1 - 3.4) 

(Total Marks: 20) 
(gcd 20) 

3.1) Calculate the time taken to transmit a document that contains 2 million bytes through 
a 56-Kbps channel? (Write down all the steps) (4 Marks) 
56-Kbps channel 625323? sodsos Q)8D Sgcazn 2 253° efQ°cg gScszs? e3®@g>«&G5 z85®0 oozsDsi 

25)3(303 O0-S62DG3 25)d2rf25\(8o3g 8oS(Dd §033 ^Ozrfe) .) ((32§«g 4) 

Hint/ §>$cs: 
• Transmission time (es®®e/»-«& 2533003) = Message size/Bandwidth 
• 1 Million (®gc32̂  1253°) = 106 

3.2) a) What is meant by 'latency' in a network? (1 Mark) 

£53(303253 'latency' cassfossizrf et̂ joes0 ?ff>6zrt®&f z§®zd<i? (e^-Sg 1) 

b) What are the factors that cause 'latency? (2 Marks) 

'latency' esqtos eaoDzsi ©©sznOŝ? (c^-eig 2) 

3.3) Examine the differences between a 'periodic simple analog signal' and a 'periodic 
composite analog signal'. (5 Marks) 
'25)3C532adi8 esde £ft253@e3«f a3°e^3©' (periodic simple analog signal) eaa) " a a o e ^ d i S 
e3=a2sjs253 cfi2o®C3«3* ss°«^3©' (periodic composite analog signal) ef2ad ©e^efe® 8®e32sfe>. 

( c z ? ^ 5) 
3.4) Explain the 'signal distortion' that occurs in an analog signal, with the help of a diagram. 

(8 Marks) 
cfx2S3®C3̂  e3o«̂30253° (analog signal) zgg efiz3©2r> 'es<>ê 3 82S3az3o3'(distortion) 0^0 esOsozrsass 
CfDG)3d®032?f £3x?0^(3 253d2rfe). ((32t?)«g 8) 

Question 4 (4.1 - 4.3) 
ejs&n ef=25) 4 (4.1 - 4.3) 

4.1) List the 4 categories of 'noise' and describe 1 of them 
'®ttJ»o®Q&' 2533-sdeD 4 cJtSed ĉozj) 253d efJOsSzs-f 1253° Sefed 253d2rf2?3. 

4.2) a) What is the purpose of 'OSI reference model'? 

'OSI reference model's efdg-es asj®2sf̂ ? 

(Total Marks: 20) 
(fg£ e^^: 20) 

(5 Marks) 
(C25^ 5) 

(1.5 Marks) 
((3252-̂  1.5) 

(3.5 Marks) b) List all the layers of 'OSI reference model' in the correct order. 
'OSI reference model's 8cag dradcazsf zBO^d^ 8 g®£>e Q eiSeft^rozs zs>6?si&i. 

(C252^ 3.5) 

4.3) Describe the 'Internet Layer* of the TCP/IP model, with its protocols. (10 Marks) 
TCP/IP ef3253az53®o3tS 'Internet a^adca', a S ®g3®03®2533°(3 e3@eo Sefed zssdzjte. ((32?-®9 10) 
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Question 5 (5.1 - 5.2) (Total Marks: 20) 
gete) £f°2a 5 (5.1 - 5.2) ( § e e«B^§: 20) 

5.1) a) Convert the following IPv4 addresses to binary notation. (Write all the steps). 
(8 Marks) 

otora IPv4 Q8z?>, ^S®ca qow>o6csd aSDSaznos z s jdjs te ) . (8a06 Qa^Q® gcazrTzD). 

(C2S3^ 8) 

i. 1 9 2 . 1 6 8 . 1 . 5 2 

ii. 1 2 8 . 1 0 . 1 6 . 1 4 5 

iii. 2 3 9 . 2 5 5 . 2 5 5 . 2 5 5 

iv. 1 0 . 2 0 . 2 3 . 1 6 8 

b) Write the class of each IP address given above (5.1 a.). Write the reason for each 
answer. (4 Marks) 
§5025) ^ qvS (5.1 a.) &zs$ ©25? IP g82r>@G3tS class ©253 goszsfe). £25? SgsgdO ©sdzgD 
g e a s f a } . ( C 2 ? ^ 4) 

5.2) What is 'Packet Switching*? Explain. (8 Marks) 

'tilZSid iiBSvief' G32£) 2£2® 253°̂ ? S ^ l O ^g Z53d25"fe). ( C 2 ? ^ 8) 
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